10 9 8 7 6 5 4 3 2 1

L+Tol. | L1+Tol.
(SEE SHEET 2- SEE PART LIST) T (SEE SHEET 2- SEE PART LIST)
11 T 11 .
: — e e~}
1 5 <
9
VIEW FROM FRONT SIDE 10

SCALE 2:1

4
ELECTRICAL DIAGRAM C4 )

M12

OO

DIN
PIN 4 — BN BN 1
PIN 2 BK 1

PIN 3 BU 2 BU 2
PIN 5 __GNIYE L GNIYE_ |

PIN1T-—WH_ Nu \—<£ \—<;
ELECTRICAL DIAGRAM C3

O O

M12 DIN [ RN
5 ||
i o & vfol4 +[o]4
BK I - — T — - = 18 0.1
PIN 2 O 1 - = - i
— ] J O]
4 k 18201 — S
8a0q NOTES :
PIN 3 BU O 20 BU .9 . 18+0.1 -
e ° v ELECTRICAL - CURRENT : MAX. 5.0A
e - -0 N CONTACT RESISTANCE : <15 milliohms MAX.
PN h N : INSULATION RESISTANCE : 100 Megaohms MIN.
INTEGRATED GASKET | SCREW M3x27 | SCREW M3x25| o veical - OPERATING TEMPERATURE WITH -

PROFILED GASKET FLAT GASKET

NITRILE RUBBER (NBR) GASKET : -40-C TO +90-C
— -(28.0) -y & LIVE CONTACT DISTANCE :

i 12 | FORM A - 18.00mm
R
o3 B

E () ENVIRONMENTAL - IP65 SEALING PROTECTION(FIXING SCREW)
DT
— (D

/1

THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX ELECTRONIC TECHNOLOGIES, LLC AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
DIMENSIONUNITS|  SCALE | CURRENT REV DESC: ENG NO. CORRECTED FOR
13 mm_| 1.1 | molex
GENERAL TOLERANCES
(UNLESS SPECIFIED)
f-——— — - — —_— .
295 28 ™ N~ o) ANGULARTOL * 197 IetNO: 660219 DUAL DIN E65 FORM A + M12
(18) S (9.0 o N N 4PLACES |t DRWN: SSM 2021/03/25
(5.2) (1.8) ' . 3PLACES |t CHK'D: RSILLER 2021/04/07
f -— Soces T ooe |APPR: RSILLER 2021/04/07 PRODUCT CUSTOMER DRAWING
/\ 4 ! } ‘;\ I — M3 M3 P R INITIAL REVISION: DOCUMENT NUMBER DOC TYPE| DOC PART| REVISION
T o o : DRWN: SSM 2018/12/20 1210550354 psD| 000 | A3
OPLACES |+ 05 |APPR: THAERDT 2018/12/21
DRAFT WHERE APPLICABLE | THIRD ANGLE PROJECTION DRAWING SERIES MATERIAL NUMBER CUSTOMER SHEET NUMBER
MUST REMAIN
DOCUMENT STATUS| P1 | RELEASE DATE | 2021/04/07  12:50:29 | WITHIN DIVENSIONS @ 1 |A3-SIZE | 121055 | SEE PART LIST | GENERAL MARKET |  10OF 2

9 8 7 6 5 4 3 2 1




10 9 8 7 6 5 4 3 2 1
ENG No. MATRIX
| | | | | | | | | | | | | | | | | | | | | |
E6 - OVERMOLDED DUAL Cable type: Cable Length | |Cable Lenght
DIN CORDSET P2-PUR 20AWG in Meters (L): | |in cm Between
A=1 2 connectors (L1) Internal Circuit
B=1.5 13=13 cm see Wiring Configuration
5-FORM A C=2 20=20 cm
V=13 25=25 cm Voltage and LED color
B= 24V Green
_ —— 2= 24V Red
A =M12 STRAIGHT Head Colour: Eérth PIN Location: H= 24V Yellow
N - Black 1=Double Earth
on 6H and 12H
2=H12
Type of Gasket and Screw:
1 = NBR Profile Gasket+Fixing Screw M3X25mm
2 = NBR Flat Gasket + Fixing Screw M3x25mm
P = NBR Integrated Gasket + Fixing Screw with
CABLE SPEC| FlCATlON : Washer M3x27mm Assembled on Connector
CABLE ITEM No. | CROSS SECTION | JACKET | COLOR | STATIC TEMPERATURE | DYNAMIC TEMPERATURE | VOLTAGE RATING
CABLE -1 5x0.50mm? PUR BLACK |-25°C TO +90°C -5°C TO +90°C 300V
CABLE -2 3x0.50mm? PUR BLACK |-30°C TO +90°C -5°C TO +90°C 300V
BOM
13 2 SCREW M3X27 WITH WASHER M3 - -
12 2 GASKET NBR -
11 2 LABEL; PLASTIC 9X20 ABS WHITE
10 1 PCB WITH ELECTRONIC
9 1 COMPONENTS - SEE PART No. KEY
8 2 MOUNTED INSERT ASSY 2P+2T UL94-V0 BLACK
7 1 COUPLING NUT M12 MALE BRASS NICKEL
6 5 CONTACT 10 MALE BRONZE [GOLD OVER NICKEL
PART LIST 5 |1 |INSERT MALE 5P PUR BLACK
MOLEX PN | ENGINEERING NO. | L[mm]|L1[mm] 4 |- |MOULDING MATERIAL PP BLACK
1210550130 | E65AP2NA2011C4H | 1000 | 200 3 |- |MOULDING MATERIAL TPY BLACK
2 - CABLE-2 3X0.5MM PUR BLACK
1210550131 | E65AP2NB2011C4H | 1500 | 200 1 i CABLE-1 5X0.5MM PUR BLACK
1210550158 | E65AP2NA201PC4H | 1000 | 200 TABLE OF LENGTH TOLERANCES || ITEM|QTY | DESCRIPTION MATERIAL | FINISH/COLOR
1 21 05501 70 E65AP2 NA1 31 PC32 1 000 1 30 OVER Il#\lPC'II_'SDA”':llg TOLERANCE 'DrwiN[)SIIQS:VJ:ﬁSCONTSiIELSEINFOQ[E%%%’&&:%{%}ZgEgZRIELAGRYNLOgﬂgl:;(;éiCEBRggI;TECHNOLOGIES LLC AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
1210550208 | EG5AP2NA1311C4B [ 1000 [ 130 o T500 10720 _mm_| 11 molex
1210550250 | E65AP2NA1322C4B | 1000 | 130 500 |1000 +20 (UNLESS SPECIFIED)
ANGULARTOL + 107 ' DUAL DIN E65 FORM A + M12
1210550264 | E65AP2NA1312C4B | 1000 | 130 ;ggg 2888 ff;g DR, SO 202110325
1210550354 | E65AP2NA131PC4B | 1000 | 130 5000 110000 250 . leee melie prsnopd PRODUCT CUSTOMER DRAWING
1210550355 | EB5AP2NA251PC4B | 1000 | 250 10000 | 15000 +100 A 05 | b s ooz 1910550354 |psol ooo | A3
1 21 0550356 E65AP2 NV1 31 PC4B 1 3000 1 30 15000 20000 i1 50 ° FD);:iEWSHEREAppUC:;E é:EDR/;NGLTEI-:’éoEJﬁcDTLN DRAWING 22152\/5132/21 MATERIAL NUMBER CUSTOMER SHEET NUMBER
DOCUMENT STATUS| P1 | RELEASE DATE | 2021/04/07 _ 12:50:29 | 20000 +L/100 TR © £ |A3-SIZE| 121055 | SEEPART LIST | GENERAL MARKET | 20F 2
9 8 7 6 5 4 3 2 1




10 | 9 | 8 | 7 | 6 | 5 | 4 3 | 2 |

1
Screw M3x25 PART NUMBER HATHIX EELéESCAT)I(?)l(CXAXLX)l%l)l(A)?gBAXM
and Profile Gasket @ >< C A
[Gaskef-screws: }m‘ PIN 4 1

t-NBR profile

[oXe
N

PIN 2
\:[E\ A (SA UL Black |the DIN head ithe 1o N=H6/H12 gasket+screw
2=NBR flat
qusketsscrew
3-Siicon profile
gosketescrew

y E65-Form A Number of poles: (ume VypE Cable cross Heuﬂ calour: L Cable length: (LT - Disfonce Eur#h pin
F (See sheet 2 tinm contact spacing) A2 straight | N=P section lock 0-M12 mouided on [between mmnm
- 2:05 2 (20AWG) A=1000nm head in cm
A-PVC CSA-UL 13075 mn2 HBAWG) B-1500nn 3-Bamm

# EXA MPL E_‘ B=PUR CSA-UL E éggnﬂm
_4]25 = E65APZNAZONMCAH o 7ot

l4=Siicon fiat
gasket+screw

© 6-4000nm  R-7500mm P-NBR inlegrated  K=NER ilegrafed PIN 3 O 2 2
ﬁ:l: Tiéﬁgm iggggm gusket+screw (P67) 22:::’6;’3;‘;;555 steel EN-: PIN 5 N N N
— E; ; M=5500mm  U=9000mm - =
295 e CIRCUIT TAMPO PRINTOUT/WHITE PIN 1 — N/U I—<'é' I—<'é'
Not for E65AXXXXXXIX000) S ECTRCAL DAGRAT

A1
E65AXXXXXXXXA1IX -

Screw M3x25 C A B
E| | and Flat Gasket — — PN % _ )

Qty 2 o o S PIN 2 o
(See sheet 2 — Hief@ e - «E}» — - — m@@@ﬁt/ S 1
= = = =

© MZ IN CASE OF 18:0.1 PIN 3

O 2 2
= E65AXXXXXXIX000 WITHOUT LED PIN 5 ° " "
8 i PIN 1 — N/U I—<# I—<#
e (===
D ELECTRICAL DIAGRAM Cé4
% o E65AXXXXXXXXC4X C4]
Screw M3x27 —t C A B
with Grommet " PIN 4 - _ 1
& Integreted Gasket Eace view ‘ PIN 2 0 1
] Qty 2 5
(See sheet 2) 2 1
- _ [co)]
%ﬂ}zl?r 3@ ‘ 0N PIN 3 O 2 2
27 | % “ PIN 5 o + +
C 0#9 L1 PIN 1 — N/U I—<% I—<%
+Y ELECTRICAL DIAGRAM ELECTRICAL DIAGRAM )
o~ Table of lenght tol
ﬁ@_ — able of lenght folerances [mm] E65AXXXXXXXX000 EB65AXXXXXXXXSOX 59
S g 184 Over Up to and including| Tolerance C A B PIN % A
_— 9.3 0 1000 220 . PIN 2 ° ' 1
1000 | 3000 +30 PIN 4 ° ! !
Table 1 - PNs list o =0 PIN 2 o 1
3 O
Molex PN Engneering No. | L [mml | L1 [mm] 10000 o 220 FIN © 2 21| ens o 2 2
B 1210550072 | EBSAZNY1411C4H | 500 140 20000 <L/100 PIN 5 ° =+ =+ N N
127106550730 | E65APZNAZOTICAH | 1000 | 200 - - PIN 5 o =+ =+
1210550131  [EB5AP2NB2011C4H | 1500 200 PIN 1 — N/U = = PIN 1 — N/U = I—<-4—
1210550138 | EG5AP2NC2011C4H | 2000 | 200
1210550158 | E65APZNAZDIPC4H| 1000 | 200 = = DMENSION STYLE SCALE BESIGN UNITS
= =] |ouaLITY| GENERAL TOLERANCES THIRD ANGLE
1210550170 |EB5AP2NA131PC32 | 1000 130 w = 2| [syMBoLs| (UNLESS SPECIFIED) MM ONLY - METRIC @ (] PROJECTION
_— 1210550178 | EG5AP2NA3D1IC4L | 1000 | 300 7 R R e NCH | DRAWN 67 OATE e
1210550208 | EG5APZNAI31IC4B | 1000 | 130 <5= = _ - p—
58" C)p/W-0 [TRLAESE— [E— TpwRSALEC ooy o ECOAIXARADOI
1210550260 | E65AP3NBZ01PSOH | 1500 | 200 Dox Sl 3 PLACES|E-==  |4-——
1210550264 | EGBAPZNAT12048 | 1000 | 130 22 o3 \/-0 [ZPLACES[E— [+-—
1210550305 | EB5AP2NC201KSOH| 2000 200 a0 28 1 PLACE |£-—- - APPROVED BY DATE
A 1210550319 | EB5AIBNBI411C4H 1500 | 140 <a = = 0 PLACE [-—— [£——- MIWASIECZKO 2015/09/28 m!! gx
1210550320 | EBSABNETATIC4AH | 3000 | 140 % S s ANGULAR £-—2 FATERIAL NO. DOCUMENT NO. SHEET WO
= +
AU DRAFT WHERE APPLICABLE| SEE TABLE 1 SD-121055-007 1 OF 1
owoo< = MUST REMAIN SIZE | THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
A I WITHIN DIMENSIONS A 3 INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

b_frame_A3_P_ME_T
Rev E1 2012/01/25 9 8 7 6 3 |

4 | 3 | 2 | 1




